

Name: SOLUTIONS

A#:

Section:

1. Compute $\int_0^1 \int_{-3}^3 (2x^3 - y^2 e^x) dy dx$.

$$\begin{aligned}
 \int_{-3}^3 (2x^3 - y^2 e^x) dy &= \left[2x^3 y - \frac{1}{3} y^3 e^x \right]_{y=-3}^{y=3} \\
 &= (6x^3 - 9e^x) - (-6x^3 + 9e^x) \\
 &= 12x^3 - 18e^x
 \end{aligned}$$

5

$$\begin{aligned}
 \text{So } \int_0^1 \int_{-3}^3 (2x^3 - y^2 e^x) dy dx &= \int_0^1 (12x^3 - 18e^x) dx \\
 &= \left[3x^4 - 18e^x \right]_0^1 \\
 &= (3 - 18e) - (0 - 18) \\
 &= \boxed{21 - 18e}
 \end{aligned}$$

2. Compute $\int \frac{x^3}{\sqrt{1+x^4}} dx$

Let $u = 1 + x^4$, $du = 4x^3 dx \Rightarrow x^3 dx = \frac{1}{4} du$

5

$$\begin{aligned}
 \text{So } \int \frac{x^3}{\sqrt{1+x^4}} dx &= \frac{1}{4} \int \frac{du}{\sqrt{u}} \\
 &= \frac{1}{4} \cdot 2u^{1/2} + C \\
 &= \boxed{\frac{1}{2} \sqrt{1+x^4} + C}
 \end{aligned}$$